.Net Sockets with Message Framing
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Demonstrating Socket-hased Messenger =

Listening port: 2048
destination address: 127.0.0.1

destination por 2048
nunber of messages: 25

(msgdmessage H1</msg>
{msgdmessage H2¢/msg>
{msgdmessage H1</msg>
{msgdmessage HI</msgd
{msgdmessage H2</msg>
{msgdmessage #4</msg>
<msgdmessage HI</msgd
{msgdmessage H5</msgd
{msgdmessage #4</msg>
<msgdmessage H6</msg>
{msgdmessage H5</msgd
{msgdmessage §7</msg>
<msgdmessage H6</msgd
{msgdmessage H8</msg>
{msgdmessage #7</msg>
{msgdmessage #I</msgd
{msgdmessage H8</msg>
<nsgmessage H1B</nsg>
<msgdmessage HI</nsgd
<nsgmessage H1</nsg)
<nsgmessage HB</nsg)
<nsgmessage #12</nsg)
<nsgmessage #1</nsg)
<nsgmessage #13</nsg)
<nsgmessage #12</nsg)
<nsgmessage #14</nsg)
<nsgmessage #13</nsg)
<nsgmessage HE</nsg)
<nsgdmessage #14</nsg)
<nsgmessage #16</nsg)
<nsgmessage HE</nsg)
<nsgmessage H7</nsg)
<nsgmessage H16</nsg)
<nsgmessage H18</nsg)
<nsgmessage #7</nsg)
<nsgmessage #19</nsg)
<nsgmessage H18</nsg)
<nsgmessage H28</nsg)
<nsgmessage #19</nsg)
<nsgmessage #21</nsg)
<nsgmessage H28</nsg)
<nsgmessage #22</nsg)
<nsgmessage H21</nsg)
<nsgmessage H23</nsg)
<nsgdmessage #22</nsg)
<nsgmessage H24</nsg)
<nsgmessage #23</nsg)
<nsgmessage H25</nsg)
<nsgmessage #24</nsg>
<nsgdquit<snsg>

listener shutting doun
press any key to quit

<nsgdnessage 25</nsg>
<msgdquit<snsg>_

lef |
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Demonstrating Socket-hased Messenger =

listening port: 2047
destination address: 127.0.0.1
destination porc: 2048

nunber of messages: 25

listener shutting doun

press any key to quit





